f(x)
f(x) x RM
3 2.
3.1 0o f9
3.0 . gix)(=1,2,..,m)
f(x) gi(x) 0(=12..,m)
( )
shioura@dais.is.tohoku.ac.jp
[p-89] | 3%
f f
ﬂ Vf(x) =f'(x) ;—j
ox f(x+d) = f(x)+ VI(x)" d+o(|d )
Vix) = o(c) o0 JCVES 9(c)
5t RO) =% ) V f,(x) =2x - 05
0.4 VX X
OX, f, (X, X,) = sinx, + CosX, 03 X2
0.2
COS X, 0.1
\V/ f2 — i M
|:> () (—sm XJ 0 0T 02 03 04 05




[p.89]

f(x+d) = f(x)+ VE(x)" d+o(|d|])

[p.89]
f(x+d) = f(x)+ VE(x)" d+o(|d])

f,(x) = x> Vf(x)=2x

BEd) = (x +d)2=x2 +(2x)d +d?

f(x) =a’ x+b
VIi(x) =a
:> f(x+d) =a’ (x+d)+b
=f(X)+VF(x+d)
[p.89] H
X f=
> F(x+5VF(x) > f(X)
5=¢/||VE(x)]l, d=6VF(X) >

f(x+d) = f(x)+ Vi(x)" d+o(|d ||
=f(X)+ || VI (X)||+0(¢)

: = =

g|| VI (x) ||+0(g):g(||Vf (x) ||+@j>0
&

. f(x+d) > f(X)

@ o( d ) [
/X x+d
f X
(x+d)2  x2+ 2xd [o]
[p.89] EE:’
X f=
S f(Xx—0Vif(x)) < f(x)

o =¢/|VE(x)]l,d =-6Vi(x) e

f(x+d) = f(x)+ VE(x)" d+o(|d|])
=f(x)- ¢l VE(x) || +0(¢)

o(¢)
s =
& V(%) ||+o(g)=g[—|| Vi (%) ||+@j< 0
© f(x+d) < () ¢




[p.97]

f(x)

X*:

f(X)=x7—2x, +4x;

=(x,—1)°+4x5 -1

(X1.%5) = (1,0)
v (x)= (2X1 —2]

8X,

Vi (1,0)= @

X*:
f(x*)=0
o)
f(x*—§Vf (X*)) < f(x*)
X* T(x*
[p.98] HH

X - f(x O

X* X*

f () :%x6 —gxs —x*+4x3 VE(X) = (x+2)x* (x—2)(x—3)

20

X*
TX*

[[x=x*| S
X T(x)

T X*




3 [p.103] HE
[p.102] b s
3.2,3.8: f(X)=x>—2x +4x;
Vi (x)=[ 2472 TR
L 8x, ‘\ 10
X x o f(x
) 09 “(X,,%,) = (0,1) §\ l0.2
S a=0.13
= 10.4
« (0,1) = (-2,8) [~
10.6
£(0 + 2a0,1 - 8CY) §
0.13 = o8
a=0. o
fx a f(x) o 0 = —,
. S ; ;i I
(X.%,) = (0.26,-0.05) 0 02 04 06 08 1 1.2
[p.102] | 382 [0.104,105] T
f f [ ] . [ ]
XO
>
k=0 : f(x) = x* — 4x2
XK X 0,%+V2
— f(xk)
fixk o f(xK)) a 0 ’
ok x* I )l =0
xktl=xk — ok f(xk) —> | fOOll
Xk
k=k+1 1
> [[x - x|




[p.104,105]

0.6

0.4

0.2

-0.2

-0.4

-0.6

-0.8

[p.89]
LX) =x2 ) Vi(x)=2x ) Hf(x) =2

f, (X, X,) = sinX, + COSX, |:> V(%) :( COS X, ]

—sinx,

I:>Hf2(x)=(_8i(;lxl Oj

—COS X,

fs(xlv Xz) =X X+ IOg X

I:> Vv f5(x) =(X2 +X::/ XlJ I:> H f;(x) =(—],/X12 1)

1 0

(X XJ
esce
f
o° f o° f o° f
OX0X  OX0X, O0X0X,
R
Hf(x)= 0%, 0% 0X0%  0%0X,
I A
0X,0%  O0X,0X%, O0X,0X,
2
Hf(x)=1f"(x)
(X XJ
esce
[p.90] 43
f

2
f(x+d) = f(x)+ VF(x)" d +%dTHf(x)d +o(d|P)

foox ’ l[d[|=A/dZ +d2 +---+d?




[p.90]

f(x+d):f(xy+Vfoon+%dTHfood+omdnﬂ

0
2 I
4

2

\%

X

0-6d+5d?

[p.90]
f(X) = (Xx=2)(Xx=Dx(Xx+D(x+2)=x> —5x% + 4x
f(x) =5x* —15x* +4 H f (x) =20x° —30x

=-1 x=0 Xx=1

0+4d+0d?

PUnl DAL

0-6d-5d?

V VY

l

f(x) = x? VEi(x)=2x HIf(x)=2
= f(x+d) = (x+d)?
=X’ +(2x)d +d*=(x+d)*
2 1‘(x):£xTVx+ch+c0
2 V:nxn
f c.n
Col
[p.99] | ¢
A
o y yrAy
A
= y yrAy
A 1x1
A ay , A < an

[p.99] °
A
- y yTAy
A
= y yrAy
A 2x2
A = ayq y Ao , A18,, — 8552
A = A y 8o , A18,; — @552
2 =2 2 =2 2 =2
-2 5 -2 2 -2 0




[p.99]

X*:
HF(x™)

*

1

X* =
0 x 2 f(x)=0

f(x*) = f'(x*) =0

Hf(x*) = f "(x*) = 0

[p.100]

x* HT(x*)

[p.100]

HF(x*)

1 3
fO)==x" x> —x*+4x°
1 f(x) el

VI (X) = (x+2)x*(x—2)(x-23)

— x=-2,0,2, 3
H f (x) =5x* -12x°
—12x% + 24x
= Hf(-2)=80>0
Hf(0) =0
Hf(2) = -16 < 0

an

Hf(3)=45>0 3 5

-1 0 1 2 3 4

X*:

( 2%, —2X, j
Vi) =

Xy — Xy — 2%,




> x* f p.162 3.1
= X* -f
> X* -f - Hf(X)
f(x,y) = (x = 2)* + (x — 2y)?

—> ©, 3)

x* — Hf(x*)

x* — Hf(x*)

X*:




